A CREALITY

Al
0 Ender-5 Max
DACRGAUW i
T AT e g
Ender-5 Max 3D L2IE{
|




DAY Sl B

CrealityS MEioH FMHM ZAFLICH 224H0| HOIE 23

4 t A
HE *f% Zd QRIES A7MSHHLL SDII=E Salf 2 dBAQ S & 4+ A20 0|F = HUHTM 2.
SHA
o

= AS0fl thet 22fAttE A/S S4B E O3l FAI7| BIHLICE
5t Creality 24! A0 E (www.creality.com)0i 2 121510f AT EQO{L SEQ0], M2t A3 2|2, 22| B2 HE S0

’

o
BEAHWE 22 4 UsUCH

Hellol ¥azf|0|=

. HBo|A 3tHE Salf 21y oS ¥20|=8 4 ASHCH

. Creality Cloud OTAE Saoff HAIOE g 0|ES & JELICH

1
2
3. 2A! 2IALO| E https://www.creality.comOl 22350 "Support — Download Center 'S 225t &, si|E D E-S MEHSIY
o

=
L5t A0S 22 EFLIC (E="Creality Cloud — Downloads — Firmware"& 22l). 427} 2 & 20|z AL
UGHC

HE 23 L OIE| MH|A HHE

1. A2|L2|E] A 2|7 (https://wiki.creality.com)0fl 21915104 = RtA|GH O ILE] A
HIA RE2|ES &HUT 4+ AT

2. &= +86 755 3396 566622 OZE{AMH|A AIE{0]| Z2[ctHLE O|H|Y S ELHMAIR
cs@creality.com . Creality Wiki




>>

30
0fo

FUAI2, BEEA] HR|E SEF0lM

)
)
2@
3o
uF o
= o0 .
2 B O o
K 5}
~ T 3 m%
ol Sy %
Ju X5 oo3 .
|:A_| n_.a o O_=._ [l
= < 1 g
. o_ T _ —
of z o W 2 4
A el 3
< . oo ® o
I F A <t
= = . - .
e W._ o~ M._ ol
X oo HOEom 20
1o o oy ™ ﬁ._|o Tl
&Io .__A._.__ 0 o W ﬂl
< = WX B
% nO_.o o) o ol <0
X oy of 2 o .
A _.=_=._ D ~ p 2 WI
m ¥~ UR I %
ou_u o < T L«
kL C W M = o 37
30 of & =1 =< = ol
u o= N m.._ 3T < o
e Y| T . Rk o
o__mmmm_ﬂ&m_n_
~ o X &, o .
Xo_— M 2w Y
Y ~ I_H._I ~ Ro MI _|__ <
B U — g X o F 3
W o= XN w2 30
= % ' &®E @ F B
S Hwm o R = o g
X x0T o= S
B - O X w oo
wog w2 Mo Hoo
H o IV my o7 N
W H = o T ol
B JU S = = w u %
T T i
oF m:_ ol m_ﬁ mm zm H X
DN Y R < X
B oz Oogr }__ o 3
I
G L R T =
uu A u o jJ o] oF ._._/.u
B o= — KO O T Ro
g oo Dom L My -
- ¥ T L X g o <
e = U
X N o8 =} RO - 0 <
Mgz £ F oz o@g
= — © [ s =
Box W oo x5 20 W
0 R ORO W g ©f H
- N m < 1 X © N

£O 2 Q|2 ORY A2,

IIESESPNICS= =

t71 215

5

=2
=

a7

ol A{7| oy

Fz

2=

Ul

202 LA Of

Iz
=

Y219

PR

1

AL &R DAL,




2t
T T e 01-01
2 BAE I . il 02-03
T 13 B 04-16
R =5 1 04-04
R L e 05-05
=l - 'S 06-06
3478 BIEHE MR| - - - o - el 07-08
R e 09-11
306 ATIBIAIR| -+« ¢ s st e ot et e iiiiaioiiiiiiiiolioo.. 12-12
R T I 13-13
R o I N 14-14
R R £ 1L 15-16
4. 249 7] 7101 Y ARBAF QUEIHO|AO TS} - - - - - =+ =+« - s el 17-21
T R 17-18
4.2 AFBAE QIEJTHIO|A BHE - - - - - - o o oo e e e ...l 19-21
L I T 22-26
TR T 1= 23-23
52 LAN QI - - - -« e e m e e 24-25
5.3 USB ZRHA TIAT QI - -« = - - o« - o e e m e e e e e e e e el 26-26
BBPHIE MA A[E] - - - - o v s e e e e 27-30
6.1 TEFHE BE| - - - - - oLl 27-28

6.2 AHE QB - - - - s st et 29-29



. >>
=2t

B3TPUTRIHE BE - - - -« v o m o s s s s sl 30-30
ToERIE] QRAIEA - - - - o - s st 31-33
7.1 B LED EAIZ| CHOJO] B - - - - - - - - - - oo o oo o 31-31
= = N Rl e 31-31
T3 BB QA B - - - -ttt 32-32
A e e 33-33
B ZIE AR - - - -t LLLLLLLLLLLllLLLllillliilliillio.. 34-34
9 BIR BIAIE - - - - -« - - - e e e el 35-35



1.3D &2l e

6
1 =
—————————— 7 ———— -——--17
2 bh——— - 8
7777777777777 i = 13 -
4 —
° L/ R— e . )
[ 18
4
el 2.1
E 27:[-L
5 = AP
15 0 % _ ] : 19
16 I\N %
[ — 20

O =z7E O 72 28 1 O 232 ® 22 w2 @ =z uz

. @ =zurm; @ sUsMNEEAE @ A A 22 @ v-2 o @ x-= =6

. @ e A IESIIUI ® 72 ZoE e ® 24c eazs ® siFI= HI= e A
| CEERE

| @=zuyzus @ zatis 47 ® 22 262 ® va 2y D y+ 2201

01



D>

0

Hlo
4r
ok

1|

Wk

]
E =
m )
<] g
o —
X o o 7
H | - W
@ LB 2
+ 2 D)
W Q W au
- - e
Ho w|
e 3 ™
Hlu Foull o
o B 3
) nH =
HI H| ar
<
of I
20 X =
A E ~
ol il of
<0 KU &)

02



Ic

b

o
4
0x

2N on
s UMAME| 7|1E

[[—

© Vvisx18 82t 23 5= 2
LIAHAZR QM Z3H x

s

@ Max12 82t 2 YL
Ab+ M4 SCOIS 94 x4

t

=

© Mi4x6 82t A HE
3= LiAFx3

(e

O M5x22 82t A3 B
3| E LEA}

rim

]

O V5x12 82F A7 B
| LEAF x

rim

——

O M5x30 82 2% H
Bl|S LAt x

rm

[ | —

@Mi5x12 82t 231 5|2

LIAHAZR 2/ 2

e—= — = = T
= l' l' )
®27H4E ®== 147 ®= 1= x4 @ =2 Eto] ®usB ZaiAl Cj23
K = 9| WAIMlE 2B
HAH HMMEIE R,
GrrueHZE E8x2 ®as e

03

D>



3.1 ZE2mY 43|

KA} 2fHo)| et T2OtYS H|0|A T F2| LA YOI HESHCHS M5x18 LIAL 871 AFESHY U 2M2|8 25 &+ds| 1y std 2Tt

Yo D23 d3|g o SHEtof 2440
72| =E SHAIR.

5|4 ILE Q0|01 |
2 mypozs
o&Lch file

2 7{2]: 70mm

04



3.T2IE| Mx|57]

3.2 2 IHE 43

X HEES H|0|A FTHFO| LIAF YO 2210 M4x12 LIAF 471 M4 THE B IMZ U 2M2|E 2F 2td5| 15t 2L o

i

05



D>

= M3
J3TaTE A 25 = DAk QLT
ST PHES HUAM Z2MY T & LCH M5x65 LIAF 6702 M5 AR A LIALE AMESHO] W 2AM2(2 ot 29
O = a= — S

M;‘-" _—_B [ —
I| D TS

ALITY ——
-5 g = l

A7 912 24 24 010128 0% T4
24210 %@ W YELICH

Om,)

Al H[O|E{H|0]AD R
0|2@

06



AHE AHHYE Q| 2|7t 2%
SAI=|0f AFH e

@ A= B0

L] ot




D>

&l 42|517]

od
H|

t

1o

S AME

© M5x22 LEAL 274

(4 )2

= 7852

=2
=
2 L

£35S LpAF 274
2 0 @st 20| 1

© V5x12 H
221 .

M5x22 LtAL

LIAZ BlS0f
gch

Y

08



3.T2IE| Mx|57]

3.53 4 +5 43

@ 712 AN 5lE] Y FIHO LI 47HE

LIAHZ 29 5 3[E HC 2

HHE HMASHYAIL

[

09



HZSHYAIL; B. 5|E HIE HHIE|S B0 A HHAE O HEUSHYAIL.

=2y Yrare C10|0f 1240
[CIEsi2=A

HAE Wete 2D Z302

B2 5101 HUE 7} 22
HaAg|z| k&L T

=]

10

>>



3.T2IE| Mx|57]

@ 0|0l Z| 73t LIALS AFZ310] 5| EH|S MY HHE ChA| £2FHIAIR.

O SIEIS HE 0j4E2|5 7-5 A ZAE oj422| 90l £1, LI PYS FEF £, 8712 M5x12 27 2 LIAL2 DML,

@\\

3

0 A cresury

an

(( [

11



D>

O A 232170128 Z2MA FiCM ATt AHE| A2 @ 232 =2y
QIE{IO| A0 LES T7}R| $Z 02 7] Tt B Z2HY 8

A

AS AFESI0] A 0|22 TR0t R0l Dygich

247Ut HZ0| SHA & LEHOIM 7| HE AHR| Ot A2

2| o
HAYA GA BT A 0lE2 REYA YIIML, BORA| 25 FolsHH2.

12



ZOFA0| Y5t LRAL YO 22| FHSH S M5x30 LIAF 271 AFSSH0 nF B ch

M5x30 LtAL

13

D>



14

D>



O LE7| HA 0[SO LZE A
HIH AE FEE0| 7|20 HAS 22 HYAI2
70l Efo|2 J1x2f

@ 227 B2 HHES 2127 Dol S0 Alstn
ools < Afcio] S2int 32 F of2hZoR 1Y

ek

© VI3x6 LIAF 37HE AFBSIHO] fE7| BiACt FE7|
HEES DL

OEIE FES U2V FEE JTol 4Eol| &
ol5l

15

@ A XYZ ASAE 2|0|E AQ|2| 0|82 HASH 3,
B. 70| = EIO|Z 0|8510] 2E7| HiA0t LefHE
YA 0|22 YL,




@ 1~6CHAIE AR5 S T2MY UG ALESt0] T O 4 T2 5ICHo| A= The 22| 2felut Y& 2E
20 LIR0f #0552 DYRILICE 2elS MYSH XY-Z 2[0|1E A9]2| 2Q1S A QI
o

@ A. | AE LED #H0|28 A Z
20f| AHELICLC OpR[2e 2

=ELICh

of1; B. 29 #[0| ® =20 sttiol| = MEf EA[7] A0|5S YUFUCE
AS 7{0|= Etolo| file 1S QUE{H|O|A0] &St Z2S ALESHH 2

ol Aol2S DY FLCLfile &,

16

O X= 2E{ 0|52 At LIS Z2OU A S A
Z5t0] L2 LHF0f [0S LY RILICE

&g AHolse
HESHM 2.

D>



4.8 77| 710|= & A+E2} QIE{T{|0] A0 T

4.1 Ha 77| ety

Deutsch

Francais

Portugués

Turkish

uTC-1.

UTC-10:0

uTc-C

ur

uT

Espafiol

Italiano

Pycekwii

TR EHE LA

guestl

cxsw-guest2

gues

» : ; cxsw-guests

13 QlEfHo|AL 2ngelLct

od .
A&l 7|5 Y|0|=2 Qlsh 34
LALO|EOf AAIE 2|4 B0 UIE WU T,

17



448 77| 710|= L ArE2} QIE{T|0| A 0] CHIH

IZIE RA EIAE IRAE K| HAE

- UM B

z9|:
=o0]
ALY ZAF THHOM O|A0| Sl B FAQE 2H2510] Y OlEfI|0| A= ZDBYLIC

molE] 13 UOISBOISHIAR. |430l 7] 12 0|=2 la 24l
Q2 W'R QR ACE A7HGI0]| LRE 2HE ALO|E 0| A AIE 2I4 Eelof UIE THELICH
B 510 24| o2 9ol OHIES Mu|A0| AUS RHEHAIAIR

18



A AH7| 710|1= U ARE At AE{H|0] 20| TS

4.2 At22} QIE{T0|A B

[

CREALITY

=
ujy
rfo
|.ﬂ

i
=
In

rlo

n

240°C2 7t
10mm 30mm

19

S QIE{mO| AL 20

gYuct
2|£291 7|5 € I[0|S 2 QI3 2 Al
A0 E0] HAIE 2|4l Hejof UIS THELch




H #H7| 710|1= AU ALE 2} AE{H[0] 20| T

UsB E2tole

22 72y
oj2|g 7|

E4SIT USB S21Al =20|=0]| ZAFELICY,
B Z2HAl |ZI’\El 2P ode £ oY 0)2|27] QIHIo|AE Sa 2elE

A Ol
=T
A\ CrReALTY

32} QIE{T|O| AL

ARO[ E0f A|AIE

20

E

2+
=
2|&201 7| 0*331

ol
Al




448 77| 710|= & A2} QIE{T|0] A0f T

A2g

ciageol ¥7)
o 27|

olof Hek

22

XEHIZA

EE A2

el

xel
FAQ

2zt ol

Inkl)
MH|A

EET-1S

ZRAE FE 27|

23 =L

2aec

hoijet 2

Al

cxsw-guest?

cxsw-guest8

= 4 QEH|0|AE &5

>

1l

AE|

—a,

==& °H
FEEEEEEI

g M3+ s,

Sl Q0| A HNEYLICH
A&HQl 715 H[0|=2 Qs 4
YALO|E0f AAIE 24! HIO UIE TELC

21



CREALITY

SE FEOIM L2 W7tz

=T T—

ZEO| 719 E5HEt

@ == 2= 3i0i0| a3}
28 27X 71EE G|
JlcreML.

i=Ee

__ 22 I



5.2 ol4|

AI—H

5.2 LAN 2l

X USB Z2iAl =200

U= El0|E{E Z0f Creality Print 20|14 £2ZEQ|01E Z2|SHMI2
X SA YALO[EO| 2101510 H3

=

olo
d AUS CHRZ LS A| L https://www.crealitycloud.com/software-firmware/software ?type=7

o9
It

O iy Az 7Y 8

© =22 o Jpx 27|

Sl Q0| A FNEYLICLAEHC! 7|5 GO0|E2 QI S4
YAIOIE0]| A AlE 2|4 B0 UIS TS LT

23



@ "Print Plate’

s @329
ST

HEYLCH AL 7|
A Helo UIE

=

2 QIE{TO| AL
Aol 0] 2 A]

3
20l
2

E|

24



7t = 717] e

=
-

@ 7|7| 27t a. 2745101

20|

YLk AS ! Il
H20f UIg THELIC

A
il

E

Al QIE{I 0| A= 208
&

ALOIEO HA|

ol
oIl

S
o
9

25



@ USB SafiAl E2tolE 2
Medgh|ct,

A
-@-

zol|:
=2
©® 235}7| Mof DIP 22|12 & A322 FABHYAI2.

@ 2ZEQ0 ALZ0]| CHEt AFMIEH LHE-2 USB 22iA| EH{A329] S20fd

ATEQ0| AL O BHZFHIAIL.

® HYE DU USB S2lA| {232 RE T|2UE{2| (5t TI2UE{2{7t Otl)of|
A0{0F BHL{CE
@ Tt O| B0l = 218 4, =AY AME3te

20

ol

St

& 2AE

Ho

26

(=1}
=

=
=

 CREALITY

© ‘z¥'s ST 0=z,
SR QIEH|0| A JNEYLCHR| S 7|5 Faefo|=2
QI5l SA! YAO|E0]| AHAIE 2[4 O UIE THFLICH




ol g2 kx| 7|cte
DS AT EZ0|A
Th7pA].

A| ZE SEHO|A 7|E HRAREE A 7{5t0] A LEtHER

27

oA QlE{m|o| A=
7ls g0l == 2l
AHlAIE 2|4 Hellof UIE




O & HES SAFLICE BOtis &=S g W7t 7|crU © A DIP £9|%|9| 32 siAIELICE B. EIE

rhu

220| ATHEl Y2 WaAUES TN G Y
2RIES EHIZ2 FOo| 2% 2olM Aisor
BiLct.

oA QIE{H 0| A= ZNE YL T 2|52
7|5 Y20|=2 QI3 SAHALO|E0

AlAIE 2|41 HRAIOf ULS THEU

O 73 LAUES L2iUE 22| ZE SITHO|M A5t A et ER
i

28




B4l QIE{H|0| A= JNE LI CEA|SAC
7|5 Y20| =2 QI5l SA YA E0|

HAIE 2|4 HYO| UIE THELIT.

= YOl »=E7|E 7Tl
ol
=]



SHUE ZR| ZEOf &Y

510 mf2rl 22102 DABHCE

@TPU LRRIETHIEE FE0]| 25| ¢fes
TH7RA| A BT,

©T2i= 2| BEO|M 2 22S A5

HHEIS 2 CIS B2 58 W Ot 7

=2C TT—=

AH|A{§H|C

©TPU L2f2I=S Tajols 23| BEO| §1 Y
27] 814 70| 22| 20| 7IBLICY,

ODIP 2222 YN,

30



7.22E SX|84

7.1 AEfl LED EA|7| Clojo 124

SEf LED HA[7]

7.2 EUE SUOIE 2H HH Y |2 &2

O a. =3 20| SZ4E = ST} A Z2AE{O| M A @ 23UZ0| 22 LefHE HHE2 © 20| A HiR| 210|017} H2tx| 3|
75l SetES 772 223 SUSM ZeFLch = O|E2H0E o+~ AFLICE e 3 SUSZ BUN RES
SUZ0| HYE(O AHEE 4 Q=S =5t 7227 AR Al QFOf o gL ch nEA =25t= 20l FELCH
oL Ct
[E-y=]

1. B LA 27153 YAISH| 2ot O Arg Al HF 20| #22[2] DHYAIL;
2 SUST2 22300, 2HO| A HAY (0|07t ATh 2 =07| fl3 F7|H 22 WA|Sts A0| FS LT

31



D>

7.22E SX|84

ofl

A3z 2 9 70|23

23,

72 A3=2 2C3
72 A322C4

ol

i
=0

32



D>

e

G

O Y27| 2Fo| LIAIS A M5t & O L2 25 HHE Y5 S O 7|E =8 AU
AH HHE HHHUAI2. AE7|E 200°CZ of LT

(
|
| =0
| & !
|
|
|
|
| WA A LB 267} 5002 S0 FOISHAIR :
|
= = e = - I
| e22 EaE g PEO| &4E| YES BTE AIBSI0] SIE 288 1 FM2 !
P —_

33

O M =52 3




8.7| & ApQ
712 M

oo Ender-5 Max

EECIN] Fused deposition modeling

EPUES 400*400*400mm

2 Sl L

=5 174

=24 0.4mm(E=), 0.6mm 2 0.8mme} 58t 7t
Z210|A S| 0.1-0.35mm

Aoz £0.1mm/100mm

L2 <300°C

SHE 25 <100°C

A2 A2 PLA/PETG/TPU95A/ABS/ASA/PLA-CF/PA/PLA-SIlk
AH| M 1250W

A2 A 100-240V~, 50/60Hz

Tt 23|I 4l

g =23 Ah G

SECION USB ZafjA| CjA3 QI2H / LAN QIf / S2tRE Q144
23 Iy Al SEeee

£210|A AT EQ|0f Creality Print

Windows/MAC OS

B
(@)
Ho
0R
2
X

13X /English/Espafiol/Deutsche/Francais/Pycckuit/Portugués/Italiano/Tiirk/ B ANs8/5H=204

re
i)

34



9.3|2 H{M =

10P SHAIZ XS AEAF R0l |2 oy 24p ZAUAE
Y E 2203 - S llolE
AV AV

P s i 17

JI7

7 Y Y- [-X J& JiE X S =5 E 3
R -t Rva| Rv3| [0 e K D“ |-
D | B0 F3 R4 L) T
pPZalAe T3 TT CICT CICd2 = T Damﬁf —
10P S49A|lE RT WA 2 W RVQ B0 AT g R AT RIB D H@ [ 3
3 R ST W &S wefd fuzambh wveoﬁmw

=2l 70|12 32 e
=X =

Q Q Q Q O Q O O E@
E T
: |:|§§|:| 67 §|:|

HIS T
x ~ 8
iﬁ@ =
rg chor 13H -8 DD
Ly L
wurmoz g W [ D] : D .

="
QQDDDDD]Q]D
2 hi-

FAND: FANZ SEUZ
o e

’ DC24v “75‘

o U } g
C e
msu:l R32

C Jcios

ug [n

)
73 O
~

L]
—BED I — 24V =

J

130 o7

)
JGE 3 l:lmsu

2 LS s

R134

4
fou

5, LOCCOC 00 ||
LCD

388 “xxmsmsam
regisd

aL- ZJlgglijZ H=s

ADC_BED
[ ]
€95

04

o ESE o
C I ICIR126 R124
B[DZ
FINl
S
mR146
g
E

O
EN] I
_
R122R119
—
} i
P
]
|
1
4
K1
&
8
sl
£

~ = =~ ~ =~ i
YE7| BE g B SHE 25 A2l 4l
41 74 =4 AHEEH 74 Y




- >>

For pluggable equipment, the socket-outlet shall be easily accessible.
Pour I'équipement pluggable, la prise de prise doit étre facilement accessible.

Do not use this apparatus near water.
Ne pas utiliser cet appareil & proximité des sources d'eau.

Clean only with dry cloth.
Nettoyer seulement avec un chiffon doux sec.

Only use attachment/accessories specified by the manufacturer.
N'utiliser que des accessoires recommandés par le fabricant.

Unplug this apparatus during lightning storms or when unused for long periods of time.
Débrancher |'appareil durant les orages ou lorsque non utilisé pendant de longues périodes.

Refer all servicing to qualified service personnel. Servicing is required when the apparatus has been damaged in any way, such as power-supply cord or plug is damaged, liquid has been spilled or
objects have fallen into the apparatus, the apparatus has been exposed to rain or moisture, does not operate normally, or has been dropped.

Confier la réparation a du personnel technique qualifié. Faire réparer lorsque I'appareil est endommagé; lorsque le cable oula fiche d'alimentation est endommagé,lorsqu’on a renversé du liquide ou
si des objets sont tombés dans I'appareil, lorsque I'appareil a été exposé a de la pluie ou a de I'humidité, si I'appareil ne fonctionne pas normalement, ou lorsqu'il est tombé.

Internal/External Voltage Selectors : Internal or external voltage selector switches, if any, should only be reset and re-equipped with a proper plug for alternative voltage

by a qualified service technician. Do not attempt to alter this yourself.

Sélecteurs de tension interne/externe : Les sélecteurs de tension interne ou externe, s'il y en a, doivent étre réinitialisés et équipés avec une fiche adéquate par un technicien qualifié. Ne jamais tenter
de modifier ceci vous-méme.

Protective earthing terminal : The apparatus should be connected to a mains socket outlet with a protective earthing connection.
Borne de terre de protection : Par mesure de sécurité, 'appareil doit étre branché a une prise decourant comprenant une borne de mise a la terre.

When moving or not using the appliance, secure the power cord (e.g., wrap it with a cable tie). Be careful not to damage the power cord. Before using it again, make sure

the power cord has not been damaged. If the power cord has been damaged at all, bring the unit and cord to a qualified service technician for repair or replacement as

specified by the manufacturer.

Veillez a toujours fixer le cable d’alimentation lors du déplacement de I'appareil ou lorsqu’il n'est pas utilisé.Veillez & ne pas endommager le cable d’alimentation. Vérifiez toujours le cable
d'alimentation avant d’utiliser I'appareil. Si lecable d'alimentation est endommagé de quelconque fagon, faites vérifier I'appareil et le cable d'alimentation par un technicien qualifié recommandé par
le fabricant afin de les faire réparer ou replacer.

Disconnect power cord before servicing.
Déconnectez I'appareil avant le service.

Replace critical components. only with factory parts or recommended equivalents.
Remplacez les components seulement avec des components de la fabrique ou avec des équivalents recommandés.

CAUTION: TO REDUCE THE RISK OF ELECTRIC SHOCK, DO NOT REMOVE ANY COVER. NO USER- SERVICEABLE PARTS INSIDE. REFER SERVICING TO QUALIFIED SERVICE PERSONNEL ONLY.
CAUTION: POUR REDUIRE LE RISQUE DE CHOQUE ELECTRIQUE N'ELOIGNEZ PAS LA COUVERTURE. PAS DE COMPONENTS UTILISABLES AU SERVICE A L'INTERIEUR. DEMANDEZ SERVICE
SEULEMENT AU PERSONNEL QUALIFIE.

Hot parts!

Burned fingers when handling the parts
Wait one-half hour after switching off before handling parts




Ct2 Z2lE RH7t0f xt0|2 QlsH AA| H|Z2t 0|0|2|7t CHE 4= UG LI,
Technology Co., Ltd.0fl Q&LIC}.

b

|Z M H5t2 Shenzhen Creality 3D

SHENZHEN CREALITY 3D TECHNOLOGY CO., LTD.
18th Floor, JinXiuHongDu Building, Meilong Road, Xinniu Community,

Minzhi Street, Longhua District, Shenzhen City, China.

Official Website: www.creality.com

Tel: +86 755-8523 4565

E-mail: cs@creality.com

FECE® 7 K o\




